

Mit Hintergrund

$$f(x) = x^2 + 2x + 1$$

$$f(x) = x^2$$

$$f(x) = 6x^{23}(x^3 + 2)$$

$$f(x) = (3^3 + 5x)^3$$

$$f(x) = 3 * x + 78$$

$$f(x) = 3 * x / 3x^9$$

[illegible]

$$f(x) = x^2 + 2x + 1$$

$$f(x) = x^2$$

$$f(x) = 6x^{23}(x^3 + 2)$$

$$f(x) = (3^3 + 5x)^3$$

$$f(x) = 3 * x + 78$$

$$f(x) = 3 * x / 3x^9$$

$$f(x) = x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2$$

$$f(x) = x^2 + 2x + 1$$

$$f(x) = x^2$$

$$f(x) = 6x^{23}(x^3 + 2)$$

$$f(x) = (3^3 + 5x)^3$$

$$f(x) = 3 * x + 78$$

$$f(x) = 3 * x / 3x^9$$

$$f(x) = x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2$$

$$f(x) = x^2 + 2x + 1$$

$$f(x) = x^2$$

$$f(x) = 6x^{23}(x^3 + 2)$$

$$f(x) = (3^3 + 5x)^3$$

$$f(x) = 3 * x + 78$$

$$f(x) = 3 * x / 3x^9$$

$$f(x) = x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2 + x^2$$